
APPENDIX ( 1 ) 

TABLES 



The Calculation of Taking Groups as Samples for The Experiments 

Number of 
Students 

1. 
2. 
3. 
4. 
5. 
6. 
7. 
8. 
9. 
10. 
11. 
12. 
13. 
14. 
15. 
16. 
17. 
18. 
19. 
20. 

Total 

Mean 

Range = 66,83 - 46,25 
= 20,58 

A 

57,8 
61,8 
54 
66,2 
70,2 
65,4 
56,8 
55,8 
59,8 
58 
56,8 
58 
62,2 
59,2 
59 
68,8 
51,6 
57,4 
61,6 
54,6 

1195 

59,75 

Kelas = 1 + 3,323 log 5 
= 3,3227 
= 3 

Range 
Lebar Kelas = Kelas 

20,58 
= 3 

= 6,86 

B 

54,4 
52,4 
59 
52,2 
61,6 
61,8 
54,4 
52 
52,8 
53,2 
52,8 
58,6 
--
50 
56 
58,6 
45,4 
49,8 
---
--

925 

46,25 

.GROUPS 

c D E 

55,2 73,4 70,6 
63,8 69,6 59,6 
61,6 77,2 73 
64 66,4 66,4 
61,4 74,8 63,6 
48,6 68,6 57,6 
53,6 -- 81,6 
59,2 61,4 56,6 
60,8 59,6 68 
56,2 70,8 67,8 
57,6 52,4 51,2 
57,2 67,6 69,2 
53,6 54,8 76,8 
56 68 62 
47,4 58,6 77,2 
53,2 46 62,8 
53 --- 65 
50,4 61,2 63,4 
57,2 5_6,4 76,8 
52,6 69,2 67,4 

1122,6 1156 1336,6 

56,13 57,80 66,83 



46,25 
53,12 
69,99 

53,11 
59,98 
66,85 

XA = 59,75 
XB = 46,25 
Xc = 56,13 
XD = 57,80 
XE = 66,83 

Bad 
Good 
Very good 

So, the average classes are A, C, and D. 

Analysis to prove that there is No Significant Difference among Groups. 

HO : J..lA = J..lc = J..lo : there is no significant difference among groups. 

HA : J..lo = J..lc J..lo : there is significant difference among groups 

HO is accepted if Fe< Ft = 3,16 

HO is rejected if Fe> Ft = 3,16 

Fe= 0,39 

So, HO is accepted because Fe< Ft 

In other words there is no significant difference among groups ( A = C = D ). 



THE TRY-OUT RESULTS 

"NATIVE OR NON-NATIVE TEACHERS" 

Number of Number 

Students I 2 3 4 5 6 7 

I 4 4 4 4 6 4 6 

2 2 2 4 3 6 6 3 

3 2 2 I 2 6 4 3 

4 4 2 I 2 6 3 4 

5 2 1 2 3 3 4 3 

6 4 3 4 4 3 3 4 

7 4 3 3 4 6 4 3 

8 4 3 3 4 6 4 4 

9 4 3 4 2 6 3 2 

10 4 4 3 4 3 3 3 

11 4 4 4 3 6 3 4 

12 4 1 3 4 6 3 3 

13 4 4 4 4 6 4 5 

14 4 3 4 4 6 4 6 

15 4 4 4 3 6 4 4 

16 4 3 3 4 6 4 6 

17 4 3 3 4 6 4 5 

18 4 3 4 4 6 4 4 

19 4 4 3 4 6 4 4 

20 4 3 4 4 6 6 6 

Vi 0,53 0,89 0,93 0,57 1,20 0,72 1,46 

Evi 42,43 

Vt = 156,829 

r = 0,786 (high ) 

Notes: 

X = total amount 
Vi = sum of variance 
Evi = sum of total variance 
Vt = total sum of variance 
r = reliability 

of Items 

8 9 10 II 

6 10 5 8 

6 5 10 5 

I 5 5 5 

6 10 5 5 

2 5 5 9 

3 5 10 5 

6 9 10 10 

6 10 10 10 

6 10 5 5 

3 5 10 5 

6 10 10 9 

6 5 5 5 

6 10 5 10 

3 10 10 10 . 
6 10 10 10 

3 5 9 10 

3 lO 10 10 

6 10 9 10 

6 10 9 10 

4 10 9 10 

2,95 5,85 5,41 5,52 

X 

12 13 14 

8 10 10 89 

5 10 5 72 

9 5 8 58 

5 5 5 63 

5 5 9 59 

10 10 5 73 

10 5 10 87 

10 5 10 89 

5 10 5 70 

9 5 10 71 

5 9 10 87 

5 5 5 60 

10 10 10 92 

9 9 10 92 

5 9 9 88 

10 5 5 77 

10 5 5 82 

9 10 10 93 

10 5 9 88 

10 10 9 95 

5,20 5,92 5,20 



The Calculation of Discrimination Power and Difficulty Index 

Number Of 

Students l 2 3 4 

20 l l l l 

18 l l I l 

14 l l l l 

13 l l l I 

8 I I l l 

I I I I I 

15 l 1 l 1 

19 I I I I 

[[ l I l 1 

7 I I 1 1 

Correct 
Answer ( U) 10 10 10 10 

17 1 I 1 1 

16 1 1 1 I 

6 I 1 1 I 

2 0 1 1 I 

lO I 1 I I 

9 I 1 1 0 

4 I 0 0 0 

12 l 0 1 I 

5 0 0 0 0 

3 0 0 0 l 

Correct 
Answer (L) 7 6 7 7 

DP 0,3 0,4 0,3 0,3 
(U-L) IN 

Interpretation s s s s 

Correctly (C) 17 16 17 17 

Dl= C I Total 0,85 0,8 0,85 0,85 

Interpretation E E E E 

Criterion of Discrimination Power 

0,00 - 0,20 : Poor 
0,20 - 0,40 : Satisfactory 
0,40 - 0,70 : Good 
0,70 - 1,00 : Excellent 

5 

l 

l 

I 

l 

I 

I 

I 

l 

l 

I 

10 

1 

1 

0 

I 

0 

1 

l 

I 

I 

0 

7 

0,3 

s 

17 

0,85 

E 

Number Of Items 

6 7 8 

I I I 

I I I 

I I 0 

l I l 

l I l 

I I I 

l l l 

l I l 

0 I l 

I 0 1 

9 9 9 

l 1 0 

0 1 0 

0 1 0 

I 0 I 

0 0 0 

0 0 1 

0 I I 

0 0 I 

I 0 0 

I 0 0 

4 4 4 

0,5 0,5 0,5 

G G G 

13 13 13 

0,65 0,65 0,65 

M M M 

9 10 [[ 12 13 14 

l l I I l l 

l l l l l l 

l l l I l l 

l 0 l l l I 

I l l l 0 l 

I 0 I l l l 

l 1 1 0 1 I 

l l l I 0 l 

I I I 0 I I 

I I I I 0 I 

10 8 10 8 7 10 

1 l 1 1 0 0 

0 l I I 0 0 

0 I 0 I I 0 

0 . I 0 0 I 0 

0 1 0 I 0 I 

I 0 0 0 l 0 

I 0 0 0 0 0 

0 0 0 0 0 0 

0 0 0 I 0 I 

0 0 I 0 0 I 

3 5 3 5 3 3 

0,7 0,3 0,7 0,3 0,4 0,7 

G s G s s G 

13 13 13 13 10 13 

0,65 0,65 0,65 0,65 0,5 0,65 

M M M M M M 

Criterion of Difficulty Index 

0,00 - 0,30 : Difficult 
0,30 - 0, 70 : Moderate 
0,70 - 1,00 : Easy 

X 

14 

14 

13 

13 

13 

13 

13 

13 

12 

12 

II 

9 

8 

8 

7 

7 

5 

5 

4 

4 



Number of 

Students 1 2 3 

I 4 4 4 

2 4 4 4 

3 4 4 4 

4 4 4 4 

5 4 4 4 

6 4 2 2 

7 4 4 4 

8 4 4 3 

9 4 4 3 

10 4 4 4 

I I 2 4 4 

12 4 4 4 

13 2 4 2 

14 4 4 3 

15 2 2 4 

16 4 2 2 

17 4 4 4 

18 4 4 3 

19 4 4 3 

20 4 4 2 

Vi 0,53 0,53 0,66 

Evi 44,35 

Vt = 135,905 

r = 0,725 (high ) 

Notes: 

X = total amount 
Vi = sum of variance 
Evi = sum of total variance 
Vt =total sum of variance 
r = reliability 

4 

4 

3 

2 

3 

4 

2 

4 

4 

4 

4 

4 

2 

4 

4 

2 

4 

I 

4 

4 

1 

1,22 

The Try-Out Results 

"TOEFL" 

Number of Items 

5 6 7 8 9 10 

6 3 6 3 9 9 

5 3 6 3 7 5 

3 3 3 6 5 10 

6 6 3 6 5 10 

6 6 6 6 5 9 

3 I 3 3 4 7 

5 6 6 6 10 5 

6 5 4 5 8 9 

6 3 5 5 5 10 

6 3 4 5 8 9 

3 3 6 6 5 5 

6 5 6 6 5 8 

3 6 6 6 5 5 

6 6 4 5 8 • 10 

3 3 3 6 9 10 

6 6 6 3 9 5 

3 2 I 3 3 4 

6 6 4 5 8 10 

6 6 3 3 9 7 

1 2 3 3 4 4 

2,61 3,01 2,35 1,80 4,57 5,41 

X 

11 12 13 14 

5 5 10 9 81 

10 9 10 10 83 

5 5 10 5 69 

5 5 5 5 71 

10 10 5 5 84 

5 10 9 8 63 

10 5 5 10 84 

10 9 5 10 86 

10 10 10 5 84 

10 10 10 8 89 

10 9 5 4 70 

5 10 9 10 84 

5 5 5 5 63 

10 5 10 10 89 

8 10 9 8 79 

9 10 5 9 80 

9 5 5 5 53 

10 10 10 10 94 

9 10 10 7 85 

5 9 5 8 55 

5,36 5,41 5,93 4,89 



The Calculation of Discrimination Power and Difficulty Index 

Number Or 

Students 1 2 3 4 

18 1 1 1 1 

14 I 1 I I 

10 I 1 1 I 

8 l 1 1 I 

19 I 1 I I 

12 1 1 1 0 

9 I I I I 

7 1 I 1 I 

5 1 1 1 1 

2 1 1 I 1 

Correct 
Answer ( U) 10 10 10 9 

1 I I I I 

16 I 0 0 I 

15 0 0 I 0 

4 I I I 1 

II 0 I I 1 

3 I I 1 0 

13 0 1 0 1 

6 1 0 0 0 

20 1 I 0 0 

17 I 1 1 0 

Correct 
Answer (L) 7 7 6 5 

DP 0,3 0,3 0,4 0,4 
(U-L) IN 

Interpretation s s s s 

Correctly (C) 17 17 16 14 

Dl= C /Total 0,85 0,85 0,85 0,7 

Interpretation E E E E 

Criterion of Discrimination Power 

0,00 · 0,20 : Poor 
0,20 • 0,40 : Satisfactory 
0,40 • 0,70 : Good 
0, 70 - 1,00 : Excellent 

5 

1 

I 

I 

1 

I 

1 

I 

I 

1 

1 

10 

I 

I 

0 

I 

0 

0 

0 

0 

0 

0 

3 

0,7 

E 

l3 

0,65 

M 

Number Of Items 

6 7 8 

1 l 1 

1 I 1 

0 I 1 

l I I 

1 0 0 

I l 1 

0 I I 

1 l l 

I I 1 

0 I 0 

7 9 8 

0 l 0 

I l 0 

0 0 I 

1 0 I 

0 1 I 

0 0 1 

1 l I 

0 0 0 

0 0 0 

0 0 0 

3 4 5 

0,4 0,5 0,3 

s G s 

10 l3 13 

0,5 0,65 0,65 

M M M 

9 10 11 12 13 14 

l 1 1 1 1 1 

1 I I 0 1 1 

1 1 1 1 1 1 

I 1 I 1 0 I 

1 I 1 1 1 1 

0 l 0 1 1 1 

0 1 I I 1 0 

1 0 1 0 0 1 

0 1 I 1 0 0 

I 0 1 1 1 I 

7 8 9 8 7 8 

1 I 0 0 I I 

I 0 I 1 0 I 

I I I I I I 

0 . I 0 0 0 0 

0 0 1 1 0 0 

0 1 0 0 1 0 

0 0 0 0 0 0 

0 1 0 1 I 1 

0 0 0 I 0 1 

0 0 1 0 0 0 

3 5 4 5 4 5 

0,4 0,3 0,5 0,3 0,3 0,3 

s s G s s s 

10 13 13 13 II 13 

0,5 0,65 0,65 0,65 0,55 0,65 

M M M M M M 

Criterion of Difficulty Index 

0,00 - 0,30 : Difficult 
0,30 • 0, 70 : Moderate 
0,70 • 1,00 : Easy 

X 

14 

14 

13 

13 

12 

11 

II 

II 

11 

11 

10 

9 

8 

8 

7 

6 

5 

5 

4 



Number of 

Students I 2 3 4 

I 4 4 4 4 

2 2 2 2 2 

3 2 4 4 4 

4 4 4 4 4 

5 4 4 4 4 

6 2 4 2 4 

7 4 4 4 4 

8 4 4 4 4 

9 4 4 2 2 

10 4 4 2 2 

11 4 4 2 2 

12 4 4 4 4 

13 2 2 4 4 

14 4 4 4 4 

15 4 4 4 2 

16 4 4 2 2 

17 4 4 4 4 

18 4 4 4 4 

19 4 4 4 4 

20 4 2 4 2 

Vi 0,67 0,53 0,88 0,95 

Evi 42,14 

Vt = 117,69 

r = 0,691 (high ) 

Notes: 

X = total amount 
Vi = sum of variance 
Evi = sum of total variance 
Vt =total sum of variance 
r = reliability 

The Try-Out Results 

"ADVERTISING" 

Number of Items X 

5 6 7 8 9 10 II 12 13 14 

3 3 3 3 5 9 5 5 9 5 66 

3 3 6 3 9 5 5 6 6 5 59 

6 6 6 6 5 5 5 10 5 5 73 

3 3 3 3 10 10 5 5 8 5 71 

3 6 3 6 10 10 5 10 10 10 89 

6 3 3 6 5 5 9 9 5 8 71 

6 6 3 3 10 5 10 10 8 8 85 

3 6 6 6 5 10 10 8 10 10 90 

6 6 3 6 5 9 9 5 5 5 71 

3 6 6 3 5 5 5 5 9 9 68 

3 3 3 3 8 5 6 5 5 5 58 

3 6 6 6 10 10 10 10 7 7 91 

6 3 3 3 10 8 5 5 5 8 68 

6 6 5 3 10 - 10 8 10 10 7 91 

6 6 2 6 10 10 10 5 5 9 83 

3 6 6 6 5 5 5 9 9 5 71 

6 6 6 6 10 10 10 10 5 5 90 

6 6 6 6 10 10 5 5 10 5 85 

6 3 6 3 10 10 5 10 9 5 83 

6 3 6 6 9 9 10 9 8 5 83 

2,34 2,27 2,47 2,34 5,52 5,36 5,46 5,41 4,25 3,62 



The Calculation of Discrimination Power and DifficultY Index 

Number Of 

Students I 2 _, 4 

14 I I I I 

12 I I I I 

8 I I I I 

17 I I I I 

5 I I I 1 

18 1 1 1 1 

7 I I I I 

19 I I I 1 

15 I 1 I 0 

20 1 0 1 0 

Correct 
Answer ( U) 10 9 10 8 

2 0 I I I 

4 l I 1 1 

9 1 I 0 0 

6 0 I 0 1 

16 1 1 0 0 

10 I I 0 () 

13 0 0 I 1 

I 1 I I I 

2 0 0 0 0 

11 1 I 0 0 

Correct 
Answer (L) 6 6 4 5 

DP 0,4 0,3 0,6 0,3 
(U-L) IN 

Interpretation s s G s 

Correctly (C) 16 15 14 13 

Dl= C I Total 0,8 0,75 0,7 0,65 

Interpretation E E E M 

Criterion of Discrimination Power 

0,00 - 0,20 : Poor 
0,20 • 0,40 Satisfactorv 
0,40 - o, 70 : Good . 
0,70 - 1,00 : Excellent 

5 

I 

0 

() 

I 

0 

1 

I 

I 

I 

1 

7 

I 

0 

I 

I 

0 

0 

I 

0 

0 

0 

4 

0.3 

s 

II 

0,55 

M 

Number Of Items 

6 7 8 

I I 0 

I I I 

I I I 

I I 1 

I 0 I 

l 1 1 

I 0 0 

0 I 0 

I 0 I 

0 1 I 

8 7 7 

l I l 

0 0 0 

I 0 I 

0 0 I 

1 I I 

I I 0 

0 0 0 

0 0 0 

0 1 0 

0 0 0 

4 4 4 

0,4 0,3 0,3 

s s s 

12 II II 

0,6 0,55 0,55 

M M M 

9 10 II 12 13 14 

I I I I I I 

I I I I I I 

0 I I 1 I I 

I I I I () 0 

I I 0 I I I 

I 1 0 0 I 0 

I 0 I I I 1 

I I 0 I I 0 

I I I 0 0 I 

I I I I 1 0 

9 9 7 8 8 6 

0 0 0 I 0 0 

I 1 0 0 I 0 

0 I I 0 0 0 

0 • 0 I 1 0 I 

0 0 0 I 1 0 

0 0 0 0 1 I 

I 1 0 0 0 I 

0 I 0 0 I 0 

1 0 0 1 1 0 

1 0 I 0 0 0 

4 4 3 4 5 3 

0,5 0.5 0,4 0.4 0.3 0,3 

s s s s s s 

13 13 10 12 13 9 

0,65 0,65 0.5 0,6 0,65 0,45 

M M M M M M 

Criterion of Difficulty Index 

0,00 - 0,30 : Difficult 
0,30 - 0.70 : Moderate 
0, 70 - I ,00 : Easy 

X 

13 

13 

12 

12 

II 

II 

II 

10 

10 

10 

8 

7 

7 

7 

7 

6 

6 

6 

.j 

4 



THE EXPERIMENT RESULTS BASED ON THE READI:\'G PASSAGES 

I. THE RESULT OF THE FIRST TREATI\IEI'IT ( TOEFL ) 

GROUP C (Traditional Reading) 

Number of 

Students 

I 

2 

3 

4 

5 

6 

7 

8 

9 

10 

II 

12 

13 

14 

15 

16 

17 

18 

19 

20 

EXc = 1490 

Xc = 74,50 

I 

4 

4 

3 

2 

4 

4 

4 

4 

3 

4 

4 

4 

2 

3 

3 

4 

3 

4 

2 

3 

Sc = 10,0969 

Notes: 

2 3 

3 2 

2 3 

4 4 

4 3 

4 4 

4 4 

4 4 

4 4 

3 2 

2 4 

4 4 

4 4 

3 4 

2 3 

4 3 

4 2 

4 4 

4 4 

4 3 

4 4 

EXc = total scores of group c 
Xc = mean of group c 

4 5 

4 4 

4 6 

4 5 

4 4 

4 6 

4 6 

4 6 

4 5 

4 4 

3 5 

4 6 

4 6 

3 4 

4 3 

4 4 

3 4 

4 4 

4 6 

4 5 

4 4 

Sc = standard deviation of group c 

Number of Items 

6 7 8 9 10 

5 4 3 5 6 

3 5 5 7 5 

5 5 6 8 6 

5 3 5 7 5 

6 5 6 8 6 

4 6 6 9 8 

6 5 6 7 9 

6 4 5 8 7 

3 3 5 7 5 

4 4 6 7 -1 

6 6 6 9 7 

6 6 6 9 8 

5 4 4 7 - 8 

5 4 5 8 5 

4 5 4 6 7 

2 3 5 7 5 

5 4 6 5 6 

4 5 6 8 8 

3 5 4 6 7 

6 3 5 7 6 

II 12 13 14 

-1 7 3 6 

7 8 7 4 

-1 6 8 7 

8 7 6 7 

7 5 7 8 

10 8 9 8 

8 9 7 9 

6 8 9 6 

5 9 7 6 

5 7 7 8 

10 9 9 10 

6 8 6 8 

6 8 5 7 

7 7 8 6 

4 5 7 8 

6 6 3 4 

8 9 7 9 

7 9 5 6 

3 6 2 6 

8 9 8 7 

60 

70 

75 

70 

80 

90 

88 

80 

66 

70 

94 

85 

70 

70 

68 

58 

78 

80 

60 

78 



K TOEFL .. 

GROUP D (Critical Reading) 

Number of 

Students 

I 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

19 

20 

EXd = 1640 

Xd = 82 

I 

4 

3 

3 

4 

4 

3 

4 

4 

2 

4 

2 

3 

4 

4 

2 

4 

4 

4 

4 

3 

Sd = 10,2649 

Notes: 

2 3 4 

4 4 4 

4 3 4 

4 3 3 

2 3 4 

4 4 4 

4 4 4 

4 4 4 

3 4 4 

4 3 4 

3 3 4 

3 2 3 

3 2 4 

2 3 3 

4 4 4 

4 4 4 

4 4 4 

4 4 4 

3 4 2 

4 4 4 

4 4 4 

EXd = total scores of group d 
Xd = mean of group d 

5 

6 

5 

6 

5 

6 

6 

6 

5 

4 

6 

3 

5 

6 

6 

5 

5 

6 

4 

6 

5 

Sd = standard deviation of group d 

Number of Items 

6 7 8 9 10 

6 5 6 10 8 

6 5 5 9 7 

4 3 6 8 6 

6 4 6 7 8 

6 6 6 10 10 

6 6 6 9 7 

5 6 6 9 9 

5 6 5 8 9 

6 6 5 7 7 

6 5 6 8 8 

2 4 2 7 7 

4 3 4 8 6 

3 5 5 7 8 

6 4 6 8 9 . 
6 5 6 9 7 

5 6 6 9 9 

6 6 6 10 7 

5 6 5 8 6 

6 6 6 8 9 

6 5 6 9 7 

II 12 13 14 

9 10 9 10 95 

8 8 7 6 80 

7 8 6 8 75 

8 8 7 6 78 

8 9 8 9 94 

8 10 9 8 90 

7 10 8 10 92 

6 9 7 10 85 

5 8 8 6 75 

10 7 5 I) 80 

6 7 4 6 58 

5 4 6 6 63 

6 7 5 6 70 

8 7 7 8 85 

6 9 7 9 83 

6 10 8 9 89 

8 10 7 9 91 

8 9 8 8 80 

10 10 8 10 95 

8 8 7 6 82 



HO : ~to = ~Lc ; there is no difference between the mean groups. 
HA : 1-!o > /.lc ; the mean score of group D is greater than the one of group C. 

T-test ; where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

IX 
XC = = 74,50 

n 

n. IX2 
- (IX i 

n (n-1) 

IX 
XD = = 82,00 

n 

n. IX2 
- (IX i 

n (n-1) 

= 10,0969 

= 10,2649 

Xo -Xc 

to= 

= 2)3295 

(no-1) 5o2 + (nc-1 )oc2 

no+ nc- 2 [ ~D + ~J 

-1,686 0 1,686 

So HO is rejected since to= 2,3295 > Tt = + 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



II. THE RESULT OF THE SECOND TREATMENT ( ADVERTISING ) 

GROUP C (Traditional Reading) 

Number of 

Students 

1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

II 

12 

13 

14 

15 

16 

17 

18 

19 

20 

EXc = 1506 

Xc = 75,3 

I 

4 

4 

3 

2 

4 

3 

4 

3 

4 

3 

3 

4 

4 

4 

4 

2 

3 

4 

4 

4 

Sc = 11,7388 

Notes: 

2 3 4 

4 2 4 

3 4 4 

4 3 4 

4 4 3 

4 3 4 

2 4 3 

3 4 2 

3 4 2 

2 3 3 

4 4 4 

3 4 3 

2 4 2 

4 4 4 

4 4 4 

4 3 4 

4 4 4 

3 4 3 

4 4 4 

4 4 4 

4 4 4 

EXc = total scores of group c 
Xc = mean of group c 

5 

2 

5 

6 

5 

6 

4 

6 

5 

6 

5 

4 

5 

6 

6 

5 

4 

5 

6 

5 

4 

Sc = standard deviation of group c 

Number of Items 

6 7 8 9 10 11 

6 3 2 3 4 2 

6 4 5 6 9 8 

4 5 4 7 6 7 

6 6 6 10 10 8 

5 6 3 10 7 8 

6 3 4 5 4 5 

6 4 5 8 10 9 

3 6 5 6 4 8 

4 4 3 4 7 5 

6 6 6 10 10 7 

5 3 5 7 6 4 

3 4 3 5 8 6 

6 3 6 9 7 8 

2 6 6 10 10 8 

4 5 4 8 • 3 2 

5 6 3 6 5 3 

3 4 3 2 6 4 

6 3 5 7 8 6 

4 4 6 8 9 6 

6 6 3 8 9 7 

12 13 14 

6 7 5 54 

9 8 7 80 

7 8 9 77 

9 10 7 90 

10 9 8 87 

7 6 4 60 

8 6 4 79 

9 7 5 70 

9 8 8 70 

10 10 10 95 

7 6 3 63 

7 7 5 65 

9 8 8 86 

10 8 8 90 

8 5 6 65 

9 8 7 70 

8 7 5 60 

9 8 6 80 

10 8 9 85 

8 7 6 80 



"ADVERTISING" 

GROUP D (Critical Reading) 

Number of 

Students I 

l 4 

2 3 

3 4 

4 3 

5 4 

6 4 

7 4 

8 2 

9 4 

10 4 

II 4 

12 4 

13 4 

14 4 

15 2 

16 4 

17 3 

18 4 

19 3 

20 4 

EXd = 1672 

Xd = 83,6 

Sd = 8,9466 

Notes: 

2 3 4 

4 4 3 

4 3 4 

4 4 4 

4 3 4 

4 4 4 

4 4 2 

4 4 4 

2 3 3 

3 4 4 

4 4 4 

2 3 3 

4 3 4 

3 4 4 

4 4 4 

3 4 2 

4 3 3 

4 3 4 

4 4 4 

3 4 3 

4 4 4 

EXd = total scores of group d 
Xd = mean of group d 

5 

6 

6 

6 

6 

6 

5 

6 

6 

5 

6 

4 

5 

4 

6 

5 

6 

5 

6 

4 

6 

Sd = standard deviation of group d 

Number of Items 

6 7 8 9 10 

5 6 6 10 8 

6 5 6 4 8 

6 6 6 7 10 

5 4 3 6 8 

6 5 6 10 9 

6 4 6 9 10 

4 6 5 9 10 

6 2 5 7 6 

6 6 4 9 8 

6 6 6 10 9 

6 4 5 4 7 

2 5 6 9 8 

5 6 6 10 10 

6 6 6 9 -8 

4 2 3 5 6 

5 5 6 8 6 

6 4 5 6 7 

4 6 5 9 7 

6 5 6 8 7 

3 6 6 10 9 

II 12 13 14 

10 8 9 7 90 

9 7 7 8 80 

9 8 7 7 88 

7 9 8 8 78 

8 10 9 10 95 

8 10 10 8 90 

8 9 8 9 90 

5 8 8 7 70 

7 9 10 9 88 

8 8 9 6 90 

6 10 10 10 78 

8 9 7 6 80 

8 10 10 10 94 

7 9 8 8 89 

4 7 5 6 58 

7 10 10 10 87 

7 8 9 7 78 

8 7 6 7 81 

6 9 6 8 78 

10 9 7 8 90 



HO : llD = )lc ; there is no difference between the mean groups. 
HA : llD > )lc ; the mean score of group D is greater than the one of group C. 

T-test ; where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05 ) = 1,686 

rx 
XC = = 75,30 

n 

8c ==~ n . L:X2 
- { L:X )2 

n(n-1) 

rx 
XD= = 83,60 

n 

8o =~ n . L:X2 
- ( L:X }2 

n (n-1) 

=11,7388 

= 8,9466 

Xo -Xc 

to= ~ (no- 1) 8o2 + (nc-1)oc2 

no+ llc- 2 

- 2,5149 

[ ~D + ~J 

-1,686 0 1,686 

So HO is rejected since to= 2,5149 > Tt = + 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



III. THE RESULT OF THE POST TEST ( NATIVE OR NON-NATIVE TEACHERS ) 

GROUP C (Traditional Reading) 

Number of 

Students 1 

1 4 

2 4 

3 4 

4 4 

5 4 

6 4 

7 4 

8 3 

9 4 

10 4 

11 4 

12 3 

13 2 

14 3 

15 2 

16 4 

17 2 

18 4 

19 4 

20 4 

EXc = 1397 

Xc = 69,85 

Sc = 13,2438 

Notes: 

2 3 

4 4 

4 4 

4 4 

2 4 

4 4 

2 4 

4 4 

4 3 

4 4 

3 4 

3 4 

4 3 

4 3 

2 4 

2 4 

4 2 

3 4 

4 4 

4 4 

4 4 

EXc = total scores of group c 
Xc = mean of group c 

4 5 

4 6 

3 5 

3 6 

3 3 

4 6 

2 4 

4 6 

4 5 

4 6 

4 4 

1 5 

4 5 

3 2 

2 4 

4 3 

3 6 

4 4 

4 5 

4 6 

4 4 

Sc = standard deviation of group c 

Number of Items 

6 7 8 9 10 

6 6 4 8 7 

4 4 5 8 9 

3 3 4 8 6 

4 5 3 4 6 

3 6 2 8 10 

4 2 5 5 6 

6 6 6 7 7 

5 6 5 8 4 

5 6 5 lO 8 

5 4 6 9 8 

6 3 4 5 3 

4 5 5 8 6 

1 2 5 2 4 

3 4 5 5 - 7 

1 5 3 3 1 

4 5 6 8 8 

4 4 4 6 3 

3 5 6 7 4 

6 6 6 8 8 

2 4 3 5 7 

11 12 13 14 

8 7 5 4 

7 7 4 3 

9 6 4 6 

5 6 2 3 

7 6 8 8 

3 6 6 7 

8 10 8 10 

5 6 7 5 

6 7 10 9 

8 9 4 5 

4 6 7 3 

4 7 9 6 

5 8 4 5 

3 5 6 7 

2 4 5 6 

6 7 8 9 

7 6 6 3 

5 7 5 7 

8 10 10 10 

4 7 9 9 

77 

71 

70 

54 

80 

60 

90 

70 

88 

77 

58 

73 

50 

60 

45 

80 

60 

70 

94 

70 



"NATIVE OR NON-NATIVE TEACHERS .. 

GROUP D (Critical Reading) 

Number of 

Students 

I 

2 

3 

4 

5 

(_) 

7 

8 

9 

10 

11 

12 

13 

14 

15 

I(, 

17 

18 

19 

20 

EXd = 1608 

Xd = 80,4 

I 

4 

4 

3 

3 

4 

4 

4 

I 

4 

4 

4 

4 

4 

4 

4 

4 

3 

4 

3 

4 

Sd = 12,3006 

Notes 

2 3 4 

4 4 4 

_, 3 4 

4 4 3 

2 4 2 

4 4 4 

4 4 4 

4 4 4 

2 3 2 

4 4 4 
_, 4 2 

2 4 3 

4 4 4 

4 4 4 

4 4 4 

4 4 4 

4 2 4 

4 4 3 

4 4 4 

4 3 I 

4 4 4 

EXd = total scores of group d 
Xd = mean of group d 

5 

6 

4 

5 

4 

6 

6 

6 

3 

6 

5 

5 

6 

6 

6 

5 

6 

5 

6 

2 

6 

Sd = standard deviation of group d 

Number of Items 

6 7 g 9 10 

5 6 6 Ill 8 

3 5 4 6 5 

5 6 4 5 8 

2 4 3 4 3 

3 () 6 10 [(J 

6 6 5 7 10 

6 6 6 8 7 

5 3 6 (, 4 

5 6 6 10 8 

4 6 2 7 7 

5 4 2 6 8 

(, 6 6 10 10 

6 6 6 10 10 

4 6 6 9 9 

6 6 6 8 7 

3 6 5 9 10 

4 5 4 8 8 

6 6 6 10 10 

5 5 3 2 6 

5 6 6 8 6 

II 

9 

8 

6 

6 

8 

7 

10 

3 

9 

5 

4 

IU 

<) 

9 

10 

8 

7 

9 

3 

7 

12 13 14 

10 10 9 95 

8 7 6 70 

9 7 8 77 

8 7 8 60 

6 8 10 89 

6 7 8 84 

7 10 8 90 

7 6 8 59 

6 6 8 86 

8 6 7 70 

7 8 6 68 

9 10 7 96 

7 (, 8 90 

6 8 9 88 

7 6 8 85 

6 9 6 82 

9 5 9 78 

7 9 10 95 

8 6 7 58 

10 9 9 88 



HO : J.lD = ).lc ; there is no difference between the mean groups. 
HA : J.ln > ).lc ; the mean score of group D is greater than the one of f,>roup C. 

T-test ; where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

LX 
XC= = 69,85 

n 

8c =~ n.2:X2
- { 2:X 22 

n (n-1) 

LX 
XD= = 80,40 

n 

8o =~ n.2:X2
- { 2:X 22 

n (n-1) 

= 13,2438 

= 12,3006 

Xo- Xc 

to= 

- 2,6103 

(no- 1 ) on2 + ( nc- 1 ) 8c2 

no+ nc- 2 [ ~D + ~J 

-1,686 0 1,686 

So HO is rejected since to= 2,6103 > Tt = + 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



THE EXPERIMENT RESULTS BASED ON THE TYPE OF QUESTIOl'iS 

USED IN THE TREATMENT 

I. THE FIRST TREATMENT ( TOEFL) 

Number of 

KNOWLEDGE QUESTION 

(In Reading Passage TOEFL) 

Group C Group D 
Students ( Traditional Reading ) ( Critical Reading ) 

1 2 total I 2 total 
X X 

I 4 3 7 4 4 8 
2 4 2 6 3 4 7 
3 3 4 7 3 4 7 
4 2 4 6 4 2 6 
5 4 4 8 4 4 8 
6 4 4 8 3 4 7 
7 4 4 8 4 4 8 
8 4 4 8 4 3 7 
9 3 3 6 2 4 6 
10 4 2 6 4 3 7 
II 4 4 8 2 3 5 
12 4 4 8 3 3 6 
13 2 3 5 4 2 6 
14 3 2 5 4 - 4 8 
15 3 4 7 2 4 6 
16 4 4 8 4 4 8 
17 3 4 7 4 4 8 
18 4 4 8 4 3 7 
19 2 4 6 4 4 8 
20 3 4 7 3 4 7 

HO : llo = ).lc ; there is no difference between the mean groups. 
HA : llo > ).lc ; the mean score of group D is greater than the one of group C. 

T-test : where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

:EXc = 139 
Xc = 6,95 

Oc = 1,0501 

to= 0,1603 

:EXo = 140 
Xo = 7,00 
Oo =0,9177 

So HO is accepted since Tt = - 1,686 < to = 0,1603 < Tt = + 1,686 
In other words there is no difference between the mean of the two groups. 



Number of 

COMPREHENSIO~ QUESTION 

(In Reading Passage TOEFL) 

Group C Group D 
Students ( Traditional Reading) (Critical Reading ) 

3 4 total 3 4 total 
X X 

I 2 4 6 4 4 8 
2 3 4 7 3 4 7 
3 4 4 8 3 3 6 
4 3 4 7 3 4 7 
5 4 4 8 4 4 8 
6 4 4 8 4 4 8 
7 4 4 8 4 4 8 
8 4 4 8 4 4 8 
9 2 4 6 3 4 7 
10 4 3 7 3 4 7 
II 4 4 8 2 3 5 
12 4 4 8 2 4 6 
13 4 3 7 3 3 6 
14 3 4 7 4 4 8 
15 3 4 7 4 4 8 
16 2 3 5 4 4 8 
17 4 4 8 4 4 8 
18 4 4 8 4 - 2 6 
19 3 4 7 4 4 8 
20 4 4 8 4 4 8 

HO : ).to = 1-tc ; there is no difference between the mean groups. 
HA : ).to > 1-tc ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
=38 

t ( 0,05) = 1,686 

LXc = 146 
Xc = 7,30 
8c = 0,8645 

to= -0,1724 

LXo= 145 
Xo = 7,25 
8o = 0,9665 

So HO is accepted since Tt = - 1,686 < to = - 0,1724 < Tt = + I ,686 

In other words there is no difference between the mean of the two groups. 



Number of 

APPLICATION QUESTION 

(In Reading Passage TOEFL) 

Group C Group D 
Students (Traditional Reading) (Critical Reading ) 

5 6 total 5 6 total 
X X 

1 4 5 9 6 6 12 
2 6 3 9 5 6 11 
3 5 5 10 6 4 10 
4 4 5 9 5 6 II 
5 6 6 12 6 6 12 
6 6 4 10 6 6 12 
7 6 6 12 6 5 II 
8 5 6 11 5 5 10 
9 4 3 7 4 6 10 
10 5 4 9 6 6 12 
11 6 6 12 3 2 5 
12 6 6 12 5 4 9 
13 4 5 9 6 3 9 
14 3 5 8 6 6 12 
15 4 4 8 5 6 11 
16 4 2 6 5 5 10 
17 4 5 9 6 6 12 
18 6 4 10 4 - 5 9 
19 5 3 8 6 6 12 
20 4 6 10 5 6 11 

HO : l!o = J..lc ; there is no difference between the mean groups. 
HA : l!o > J..lc ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
=38 

t ( 0,05) = 1,686 

L.Xc = 190 
Xc = 9,50 
8c = 1, 7014 

to= 1,9520 

L.Xo = 211 
Xn=10,55 
80 = 1,7006 

So HO is rejected since to= 1,9520 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



ANALYSIS QUESTION 

(In Reading Passage TOEFL) 

Number of Group C Group D 
Students ( Traditional Reading ) ( Critical Reading ) 

7 8 total 7 8 total 
X X 

1 4 3 7 5 6 11 
2 5 5 10 5 5 10 
3 5 6 II 3 6 9 
4 3 5 8 4 6 10 
5 5 6 11 6 6 12 
6 6 6 12 6 6 12 
7 5 6 11 6 6 12 
8 4 5 9 6 5 11 
9 3 5 8 6 5 II 
10 4 6 10 5 6 11 
11 6 6 12 4 2 6 
12 6 6 12 3 4 7 
!3 4 4 8 5 5 10 
14 4 5 9 4 6 10 
15 5 4 9 5 6 11 
16 3 5 8 6 6 12 
17 4 6 10 6 6 12 
18 5 6 11 6 - 5 II 
19 5 4 9 6 6 12 
20 3 5 8 5 6 ll 

HO : I-to = 1-tc ; there is no difference between the mean groups. 
HA : I-to > 1-lc ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
=38 

t ( 0,05) = 1,686 

LXc = 193 
Xc = 9,65 
oc = 1,5652 

to= 1,7766 

LX o = 211 
Xo =10,55 
oo = 1,6376 

So HO is rejected since to= 1,7766 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



Number of 

SYNTHESIS QUESTION 

(In Reading Passage TOEFL) 

.. 

Group C Group D 
Students (Traditional R.eading) ( Critical Readi.n~ ) 

9 10 11' total 9 10 11 total 
X X 

I 5 6 4 15 10 8 9 27 
2 7 5 7 19 9 7 8 24 
3 8 6 4 18 8 6 7 21 
4 7 5 8 20 7 8 8 23 
5 8 6 7 21 10 10 8 28 
6 9 8 10 27 9 7 8 24 
7 7 9 8 24 9 9 7 25 
8 8 7 6 21 8 9 6 23 
9 7 5 5 17 7 7 5 19 
10 7 4 5 16 8 8 10 26 
II 9 7 10 26 7 7 6 20 
12 9 8 6 23 8 6 5 19 
13 7 8 6 21 7 8 6 21 
14 8 5 7 20 8 9 8 25 
15 6 7 4 17 9 7 6 22 
16 7 5 6 18 9 9 6 24 
17 5 6 8 19 10 7 8 25 
18 8 8 7 23 8 6 8 22 
19 6 7 3 16 8 9 10 27 
20 7 6 8 21 9 7 7 24 

HO : Jlo = J..1c ; there is no difference between the mean groups. 
HA : Jlo > J..1c ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05 ) = 1,686 

LXc = 402 
Xc = 20,1 
8c = 3,3071 

to= 3,5586 

LX 0 =469 
Xo =23,45 
80 = 2,6052 

So HO is rejected since to= 3,5586 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



Number of 

EVALUATION QUESTION 

(In Reading Passage TOEFL) 

.. 

Group C Group D 
Students (Traditional R.eading) ( Critical Readi.n~ ) 

12 13 14. total 12 13 14 total 
X X 

I 7 3 6 16 10 9 10 29 
2 8 7 4 19 8 7 6 21 
3 6 8 7 21 8 6 8 22 
4 7 6 7 20 8 7 6 21 
5 5 7 8 20 9 8 9 26 
6 8 9 8 25 10 9 8 27 
7 9 7 9 25 10 8 10 28 
8 8 9 6 23 9 7 10 26 
9 9 7 6 22 8 8 6 22 
10 7 7 8 22 7 5 9 21 
11 9 9 10 28 7 4 6 17 
12 8 6 8 22 4 6 6 16 
13 8 5 7 20 7 5 6 18 
14 7 8 6 21 7 7 8 22 
15 5 7 8 20 9 7 9 25 
16 6 3 4 13 10 8 9 27 
17 9 7 9 25 10 7. 9 26 
18 9 5 6 20 9 8 8 25 
19 6 2 6 14 10 8 10 28 
20 9 8 7 24 8 7 6 21 

HO : llo = 11c ; there is no difference between the mean groups. 
HA : llo > 11c ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

!:Xc = 420 
Xc = 21,00 
oc = 3,6992 

to= 2,0155 

!:Xo= 468 
X 0 =23,40 
80 = 3,8306 

So HO is rejected since to= 2,0155 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



II. THE SECOND TREATME:vf ( ADVERTISEMENT) 

KNOWLEDGE QUESTION 

(In Reading Passage ADVERTISING) 

Number of Group C Group D 
Students (Traditional Reading) ( Critical Reading ) 

I 2 total I 2 total 
X X 

I 4 4 8 4 4 8 
2 4 3 7 3 4 7 
3 3 4 7 4 4 8 
4 2 4 6 3 4 7 
5 4 4 8 4 4 8 
6 3 2 5 4 4 8 
7 4 3 7 4 4 8 
8 3 3 6 2 2 4 
9 4 2 6 4 3 7 
10 ~ 4 7 4 4 8 .) 

II 3 3 6 4 2 6 
12 4 2 6 4 4 8 
13 4 4 8 4 3 7 
14 4 4 8 4 4 8 
15 4 4 8 2 3 5 
16 2 4 6 4 4 8 
17 3 3 6 3 - 4 7 
18 4 4 8 4 4 8 
19 4 4 8 3 3 6 
20 4 4 8 4 4 8 

HO : !lo = 11c ; there is no difference between the mean groups. 
HA : !lo > llc ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

LXc = 139 
Xc = 6,95 
oc = 0,9987 

to= 0,7334 

LX 0 = 144 
Xo =7,20 
Oo = 1,1517 

So HO is accepted since Tt = - 1,686 < to= 0,7334 < Tt = + 1,686 

In other words there is no difference between the mean of the two groups. 



COMPREHENSION QUESTION 

(In Reading Passage ADVERTISING) 

Number of Group C Group D 
Students ( Traditional Reading ) ( Critical Reading ) 

3 4 total 3 4 total 
X X 

I 2 4 6 4 3 7 
2 4 4 8 3 4 7 
3 3 4 7 4 4 8 
4 4 3 7 3 4 7 
5 3 4 7 4 4 8 
6 4 3 7 4 2 6 
7 4 2 6 4 4 8 
8 4 2 6 3 3 6 
9 3 3 6 4 4 8 
10 4 4 8 4 4 8 
II 4 3 7 3 3 6 
12 4 2 6 3 4 7 
13 4 4 8 4 4 8 
14 4 4 8 4 4 8 
15 3 4 7 4 2 6 
16 4 4 8 3 3 6 
17 4 3 7 3 4 7 
18 4 4 8 4 - 4 8 
19 4 4 8 4 3 7 
20 4 4 8 4 4 8 

HO : ).lo = ).lc ; there is no difference between the mean groups. 
HA : ).lo > ).lc ; the mean score of group Dis greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

IXc = 143 
Xc = 7,15 

eSc = 0,8127 

to= 0,1921 

IX 0 = 144 
Xo = 7,20 

8o = 0,8335 

So HO is accepted since Tt = - 1,686 < to = 0,1921 < Tt = + 1,686 

In other words there is no difference between the mean of the two groups. 



APPLICATION QUESTION 

(In Reading Pas~·age ADVERTISING) 

Number of Group C Group D 
Students ( Traditional Reading) ( Critical Reading ) 

5 6 total 5 6 total 
X X 

1 2 6 8 6 5 11 
2 3 6 9 6 6 12 
3 6 4 10 6 6 12 
4 5 6 II 6 5 I 1 
5 6 5 I 1 6 6 12 
6 4 6 10 5 6 I I 
7 6 6 12 6 4 10 
8 5 3 8 6 6 12 
9 6 4 10 5 6 I 1 
10 5 6 II 6 6 12 
1 I 4 5 9 4 6 10 
12 5 3 8 5 2 7 
13 6 6 12 4 5 9 
14 6 2 8 6 6 12 
15 5 4 9 5 4 9 
16 4 5 9 6 5 11 
17 5 3 8 5 - 6 11 
18 6 6 12 6 4 10 
19 5 4 9 4 6 10 
20 4 6 10 6 3 9 

HO : J.lo = Jlc ; there is no difference between the mean groups. 
HA : Po > Jlc ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

l:Xc = 194 
Xc = 9,70 

8c =1,4179 

to= 2,0534 

2:X 0 = 212 
Xo =10,60 
80 = 1,3534 

So HO is rejected since to= 2,0534 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



Al"'AL YSIS QUESTION 

(In Reading Passage ADVERTISING) 

Number of Group C Group D 
Students ( Traditional Reading ) ( Critical Reading ) 

7 8 total 7 8 total 
X X 

1 3 2 5 6 6 12 
2 4 5 9 5 6 11 
3 5 4 9 6 6 12 
4 6 6 12 4 3 7 
5 6 3 9 5 6 11 
6 3 4 7 4 6 10 
7 4 5 9 6 5 11 
8 6 5 11 2 5 7 
9 4 3 7 6 4 10 
10 6 6 12 6 6 12 
11 3 5 8 4 5 9 
12 4 3 7 5 6 11 
13 3 6 9 5 6 12 
14 6 6 12 6 6 12 
15 5 4 9 2 3 5 
16 6 3 9 5 6 11 
17 4 3 7 4 5 9 
18 3 5 8 6 5 II 
19 4 6 10 5 6 11 
20 6 3 9 6 6 12 

HO : llo = ).lc ; there is no difference between the mean groups. 
HA : llo > ).lc ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20+ 20-2 
= 38 

t ( 0,05) = 1,686 

EXc = 178 
Xc = 8,90 
8c = 1,8610 

to= 2,3065 

EXo = 206 
Xo = 10,30 
8o = 1,9762 

So HO is rejected since to= 2,3065 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



SY!I<THESIS QUESTION 

(In Reading Passage ADVERT/SL'VG) 

.. 

Number of Group C Group D 
Students (Traditional R~ading) ( Critical Readi_n~ ) 

9 10 11' total 9 10 11 total 
X X 

1 3 4 2 9 10 8 10 28 
2 6 9 8 ?' -~ 4 8 9 21 
3 7 6 7 20 7 10 9 26 
4 10 10 8 28 6 8 7 21 
5 10 7 8 25 10 9 8 27 
6 5 4 5 14 9 10 8 27 
7 8 10 9 27 9 10 8 27 
8 6 4 8 18 7 6 5 18 
9 4 7 5 16 9 8 7 24 
10 10 10 7 27 10 9 8 27 
11 7 6 4 17 4 7 6 17 
12 5 8 6 19 9 8 8 25 
13 9 7 8 24 10 10 8 28 
14 10 10 8 28 9 8 7 24 
15 8 ' 2 13 5 6 4 15 .) 

16 6 5 3 14 8 6 7 21 
17 2 6 4 12 6 7 7 20 
18 7 8 6 21 9 7 8 24 
19 8 9 6 23 8 7 6 21 
20 8 9 7 24 10 9 10 29 

HO : I!D = llc ; there is no difference between the mean groups. 

HA : l!o > llc ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20+ 20-2 
= 38 

t ( 0,05) = 1,686 

L:Xc = 402 
Xc = 20,10 
<lc =5,7938 

to= 2,1517 

L:X 0 = 470 
Xo =23,50 
<3 0 = 4,0458 

So HO is rejected smce to = 2,1517 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



EVALUATION QUESTION 

(In Reading Passage AD VERT/SING) 

.. 
Number of Group C Group D 

Students ( Traditional R.eading ) ( Critical Reading ) 

12 13 14 . total 12 13 14 total 
X X 

I 6 7 5 18 8 9 7 24 
2 9 8 7 24 7 7 8 22 
3 7 8 9 24 8 7 7 22 
4 9 10 7 26 9 8 8 25 
5 10 9 8 27 10 9 10 29 
6 7 6 4 17 10 10 8 28 
7 8 6 4 18 9 8 9 26 
8 9 7 5 21 8 8 7 23 
9 9 8 8 25 9 10 9 28 
10 10 10 10 30 8 9 6 23 
II 7 6 3 16 10 10 10 30 
12 7 7 5 19 9 7 6 22 
13 9 8 8 25 10 10 10 30 
14 10 8 8 28 9 8 8 25 
15 8 5 6 19 7 5 6 18 
16 9 8 7 24 10 10 10 30 
17 8 7 5 20 8 9 7 24 
18 9 8 6 23 7 6 7 20 
19 10 8 9 27 9 6 8 23 
20 8 7 6 21 9 7 8 24 

HO : Jlo = 11c ; there is no difference between the mean groups. 
HA : Jlo > 11c ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05 ) = 1,686 

:!:Xc = 450 
Xc = 22,50 

8c = 3,9001 

to= 1,9772 

!:Xo = 496 
Xo = 24,80 

8o = 3.4428 

So HO is rejected since to= 1,9772 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



THE EXPERIMEJioT RESULTS BASED ON THE TYPE OF QUESTIONS 

USED IN THE POST TEST 

KNOWLEDGE QUESTION 

(In Reading Passage NATIVE OR NON-NATIVE TEACHERS) 

Number of Group C Group D 
Students ( Traditional Reading ) ( Critical Reading ) 

1 2 total 1 2 total 
X X 

1 4 4 8 4 4 8 
2 4 4 8 4 3 7 
3 4 4 8 3 4 7 
4 4 2 6 3 2 5 
5 4 4 8 4 4 8 
6 4 2 6 4 4 8 
7 4 4 8 4 4 8 
8 3 4 7 I 2 3 
9 4 4 8 4 4 8 
10 4 3 7 4 3 7 

11 4 3 7 4 2 6 
12 3 4 7 4 4 8 
13 2 4 6 4 4 8 
14 3 2 5 4 4 8 
15 2 2 4 4 4 8 
16 4 4 8 4 4 8 
17 2 3 5 3 4 7 

18 4 4 8 4 4 8 
19 4 4 8 3 4 7 

20 4 4 8 4 4 8 

HO : !lo = !lc ; there is no difference between the mean groups. 
HA : !lo > !lc ; the mean score of group Dis greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

l:Xc=l40 
Xc = 7,00 
Oc = 1,2566 

to= 0,6202 

l:X 0 = 145 
X 0 = 7,25 

80 = 1,2927 

So HO is accepted since Tt = - 1,686 < to= 0,6202 < Tt = + 1,686 

In other words there is no difference between the mean of the two groups. 



COMPREHE~SIO~ QUESTION 

(In Reading Passage NATIVE OR NON-NATIVE TEACHERS) 

Number of Group C Group D 
Students ( Traditional Reading ) ( Critical Reading ) 

3 4 total 3 4 total 
X X 

1 4 4 8 4 4 8 
2 4 3 7 3 4 7 
3 4 3 7 4 3 7 
4 4 3 7 4 2 6 
5 4 4 8 4 4 8 
6 4 2 6 4 4 8 
7 4 4 8 4 4 8 
8 3 4 7 3 2 5 
9 4 4 8 4 4 8 
10 4 4 8 4 2 6 
11 4 I 5 4 3 7 
12 3 4 7 4 4 8 
13 3 3 6 4 4 8 
14 4 2 6 4 4 8 
15 4 4 8 4 4 8 
16 2 3 5 2 4 6 
17 4 4 8 4 3 7 
18 4 4 8 4 4 8 
19 4 4 8 3 1 4 
20 4 4 8 4 4 8 

HO : J..lo = l-Ie ; there is no difference between the mean groups. 
HA : J..lo > l-Ie ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

:EXc = 143 
Xc = 7,15 
Oc = 1,0400 

to=O 

:EXo=l43 
Xo =7,15 
80 =I, 1821 

So HO is accepted since Tt = - 1,686 < to= 0 < Tt = + 1,686 

In other words there is no difference between the mean of the two groups. 



APPLICATION QUESTION 

(In Reading Passage NATIVE OR NON-NATIVE TEACHERS) 

Number of Group C Group D 
Students ( Traditional Reading ) ( Critical Reading ) 

5 6 total 5 6 total 
X X 

1 6 6 12 6 5 11 
2 5 4 9 4 3 7 
3 6 3 9 5 5 10 
4 3 4 7 4 2 6 
5 6 3 9 6 3 9 
6 4 4 8 6 6 12 
7 6 6 12 6 6 12 
8 5 5 10 3 5 8 
9 6 5 1 1 6 5 11 
10 4 5 9 5 4 9 
11 5 6 11 5 5 10 
12 5 4 9 6 6 12 
l3 2 1 3 6 6 12 
14 4 3 7 6 4 10 
15 3 1 4 5 6 11 
16 6 4 10 6 3 9 
17 4 4 8 5 4 9 
18 5 3 8 6 6 12 
19 6 6 12 2 5 7 
20 4 2 6 6 5 11 

HO : ).ln = !1c ; there is no difference between the mean groups. 
HA : ).lo > !1c ; the mean score of group Dis greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

~Xc=174 

Xc = 8,7 

Oc = 2,4730 

to= 1,7339 

~Xo = 198 

Xo = 9,90 

Oo = 1.8610 

So HO is rejected since to = I, 7339 > Tt = I ,686 

In other words the mean score of group D is greater than the mean score of group C. 



ANALYSIS QUESTION 

(In Reading Passage NATIVE OR NON-NATIVE TEACHERS) 

Number of Group C Group D 
Students ( Traditional Reading) ( Critical Reading ) 

7 8 total 7 8 total 
X X 

I 6 4 10 6 6 12 
2 4 5 9 5 4 9 
3 3 4 7 6 4 10 
4 5 3 8 4 3 7 
5 6 2 8 6 6 12 
6 2 5 7 6 5 II 
7 6 6 12 6 6 12 
8 6 5 II 3 6 9 
9 6 5 II 6 6 12 
10 4 6 10 6 2 8 
II 3 4 7 4 2 6 
12 5 5 10 6 6 12 
l3 2 5 7 6 6 12 
14 4 5 9 6 6 12 
15 5 3 8 6 6 12 
16 5 6 II 6 5 II 
17 4 4 8 5 4 9 
18 5 6 II 6 6 12 
19 6 6 12 5 3 8 
20 4 3 7 6 6 12 

HO : ).to = J.lc ; there is no difference between the mean groups. 
HA : ).to > J.lc ; the mean score of group Dis greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

LXc = !83 
Xc = 9,15 
oc = 1,7852 

to= 2,0945 

LXo = 208 
Xo =10,40 
Oo = 1,9841 

So HO is rejected since to= 2,0945 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



SYNTHESIS QUESTION 

(In Reading Passage NATIVE OR NON-NATIVE TEACHERS) 

.. 
Number of Group C Group D 
Students ( Traditional R_eading ) ( Critical Readi_n~ ) 

9 10 II . total 9 10 II total 
X X 

I 8 7 8 23 10 8 9 27 
2 8 9 7 24 6 5 8 19 
3 8 6 9 ?' _ _, 5 8 6 15 
4 4 6 5 15 4 3 6 12 
5 8 10 7 25 10 10 8 28 
6 5 6 ' 14 7 10 7 27 .) 

7 7 7 8 22 8 7 10 30 
8 8 4 5 17 6 4 3 9 
9 10 8 6 24 10 8 9 27 
10 9 8 8 25 7 7 5 19 
II 5 3 4 12 6 8 4 12 
12 8 6 4 18 10 10 10 30 
13 2 4 5 II 10 10 9 29 
14 5 7 3 15 9 9 9 27 
15 3 I 2 6 8 7 10 25 
16 8 8 6 22 9 10 8 27 
17 6 3 7 16 8 8 7 ?' _ _, 

18 7 4 5 16 10 10 9 29 
19 8 8 8 24 2 6 3 7 
20 5 7 4 16 8 6 7 21 

HO : Jlo = 1..1c ; there is no difference between the mean groups. 
HA : J.lo > 1..1c ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

IXc = 368 

Xc = 18,40 

oc = 5,4328 

to= 1,8166 

IXo = 443 
Xo = 22,15 

Oo = 7,4641 

So HO is rejected smce to = I ,8166 > Tt = 1,686 

In other words the mean score of group D is greater than the mean score of group C. 



EVALUATION QUESTION 

(In Reading Passage NATIVE OR NON-NATIVE TEACHERS) 

.. 

Number of Group C Group D 
Students ( Traditional R_eading ) ( Critical Readi_n~ ) 

12 13 14. total 12 13 14 total 
X X 

I 7 5 4 16 10 10 9 29 
2 7 4 3 14 8 7 6 21 
3 6 4 6 16 9 7 8 24 
4 6 2 3 II 8 7 8 23 
5 6 8 8 22 6 8 10 24 
6 6 6 7 19 6 7 8 21 
7 10 8 10 28 7 10 8 25 
8 6 7 5 18 7 6 8 21 
9 7 10 9 26 6 6 8 20 
10 9 4 5 18 8 6 7 21 
II 6 7 3 16 7 8 6 21 
12 7 9 6 22 9 10 7 26 
13 8 4 5 17 7 6 8 21 
14 5 6 7 18 6 8 9 23 
15 4 5 6 15 7 6 8 21 
16 7 8 9 24 6 9 6 21 
17 6 6 3 15 9 5 9 23 
18 7 5 7 19 7 9 10 26 
19 10 10 10 30 8 6 7 21 
20 7 9 9 25 10 9 9 28 

HO : !lD = 11c ; there is no difference between the mean groups. 
HA : llo > 11c ; the mean score of group D is greater than the one of group C. 

T-test :where df= nc + nd- 2 
= 20 + 20-2 
= 38 

t ( 0,05) = 1,686 

:EXc = 389 
Xc = 19,45 
Oc = 5,0321 

to= 3,0041 

:EXo = 460 
Xo = 23,00 
Oo =2,6157 

So HO is rejected since to= 3,0041 > Tt = 1,686 

In other words the mean score of group 0 is greater than the mean score of group C. 
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Native and Non-native 
Teacher: A l\latter to 
Think Over 

ANDREA M. DE A. MATTOS 

E\t·r ~itwt· I ~tarkd lt•arhin~ F.nglis.h as a 

fort•iJ,!n lmt~Wl.J.!t' in my c•ntmtry~ I han~ 
lu't'll l'lliH't•ntrtl 'w't·ith tlw rnlP of tlu- non­

proft•.;..:innalnnli\o't- lt"ncltt•r of F.nglis.h as a 
fun·i~n lnn~un~P (EFL). In nrazil a non­

Eu~ti~h "'P''akin~ t'ntmtry. this has l.Jeen a 
11111~1 .. t•riou~ rnath•r for many English 

!'Whool .... pnrtit·ttlarl~· prhatP language in-
!'1-titult• ..... itwP hiring ~uod tf!achers di-

n•dl~· t•ontrihutt·~ to tht• .. un·ival of the in­

!-Oiitution. 

My intrntion ltt•re jq nnt to take ~iJes. 

M~· ~nh• nhjf"c·ti .. .-r i~ In point out some of 
tlu• pm~ nrul cort .. nf hm·inJ:!; Pit her the one 

nr tht• nthf'r, and to try In n·a<'h 5-CHTlf" pos­

s.ihiP c·mldu~ion .... 

For thr l'll'l""r of this article, I will be 
rrfrrrin~ to Engli•h a• the target language 

(1.~) nnd ln th~ student's own language 

(i.t• .• l'orlu~uPse) a• the mother longue 

(l.d. ~irnilarly. in mentioning native 

lt·adtt·r. I nwan n natin~ speaker of En­

~_di ... h. in t·onlra~t In a non-native teacher. 
\\110 ll"'llall~· i~ a ~pt~ab·r of the student"s 

mollwr tnnJ!tu' and ha:-o lt·arnt Engli~h in 
llrn1.il or. in HHI"'t t'a'OPS, during home 
.. Ia~·.;. nhrnacl. la .. ~tin~ ~t>m•rally one year. 

I am not implyin~ that nati\.-e !"pt-ak~rs 
nf EnJ,!Ii:.oh do not nwkt-> fi!;D4wl tPaclu~rs. far 

frnm that: Many of thf'm havr l~P.n teach· 

in~ for ~r"ot·ntl yt·art and do know enough 
In J,.. •·all<•d TPal"lwr. (with u 1"npi1al1). In 

rny opinion. what rf'ally rount~ is not the 

nmounl of timt• n IP:l<'lu•r hn~ 51pent in the 
1...! counlr~·. hut tlu· amount of f"l1f"r~· ~e 

h:1"' clt·dic·uh·d to 'lwlyill,l! thf' ~nglish lan­
J.!IHI~'' awl its (t"Ut'hing Ttlt'thodology. 

Native and non-native 

In Brazil-awl ll)f•lif•Vt> thig to bf"' truP 

of mo"'t undt·rdt•'it•lnprd non-Engli:;h 

!lt~«•akin~ t·ou!ltrit·:.:-it ~t't>rH~ that lan­

~lla).!'' in .. tituh·.;; appn·t'ialf" ami want na­

li\'t' lt'tlt'lwr~. Th~ n•a:.:on i~ quite cl~ar: 

Tlu·~· atlrad studt•nl ... Thi:-; is ~ .. pt>cially 

tlw t'tl"'t' iu ~malt privatf" language 

nati ... ·e-speaker of the tar.!!:t:>l L.uJ~tJa~e 

rather than a more expf'riencPrl rHHI-!la­

ti\·e teacher. The main intere:Ol is tP Tllain­

tain the number of student$ on ~aft'. prof­
itable ground. 

From the point of 1·iew of the student, 

it is wonderful to hare a natire teacher. 

E-.·ery Ieamer dreams of practicing con­

versation with a nati,·e ~peaker. Think of 

all the slang and colloquial vocabulary 

items a nati \'e teacher can proricJe. he­

sides helping with special usages and 

tricky pronunciation problems. Moreorer. 

if the native teacher also speaks the stu­

dent"s mother tongue, s/he ne\·er has the 

fear of not knowing a mispronounct>d 

word. Instead the teacher can bridge the 

gap between the student"s pronunciation 

and the correct target word. 

Nevertheless. the non-nati\'e teacher 

also has advantages. especially if s/he is 

an experienced teacher with a broad 

knowledge of both English and the stu­

dent"s mother longue. S/he can, for in­

stance. make comparison~ between the 

grammar of English and the grammar of 

the mother longue in order to help stu­

dents O\'ercome difficulties in understand­

ing and/or producing new structures. 

Howe ... ·er~ a non-native teacher will cer­

tainly have drawbacks in some of the En­

glish language areas-the pronunciation 

or certain wonJs. or the di£ference be­

tween short and Inn!( vowel sounds (eg .• 

/il-11!). something remarkably difficult for 

Brazilian students. as well as complex 

areas such as the use of definite articles. 

Culture knowledge 

Although helping students acr1uire the 

grammar and le•is of the target language 

is oln·iously important. it is equally irn· 
portant to encourage students' interest in 

the culture(s) of L2• Here, the native 

teacher has a definite advanta~t·. Still. 

many cultural a•pects might be tak<'ll for 

grantf"d by a native teacher and. therefore, 

might not be treated n·le\'antly. Thu~. a 

non-natin~ tem·her with a rieh L:z culturE" 

knowledgt- would Sf'rve tlu~ ~ame purpose 

just as well. 

Translation 

Translation is anoth~r problem in EFI . 

... duHd ... whidt many tinw~ prrfpr tn hirt> a tt-achin~. On tht" onP hand. the non-native 
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teadwr might comfor1ahly rely on word­

by-word translation. Jwrhap~ mon:- than 

necessary. On the other hand, the native 

teacher, might struggle to explain such 

coneepts as "although"' or the difference 

between .. lend" and "'lwrrow:· items 

which could easily be taught with the help 

of the student's mother tongut". 

The non-teacher 

The major pro!Jiem. however, 1s that 

nati ... ·e teachers many times are not .. real" 

teacher.; but merely native speaker.; of the 

large! language. ~(any of them have little 

or no training in teaching. Therefpr.e, the)' 

might ha>·e problems in explaini1lg spme 

features of the English language. The pre­

sent perfect tense, for example, ..... ·hich has 

no equivalent in Portuguese. is one area 

of great difficulty. Furthennore, leaching 

methodology might be something com­

pletely alien to them. Activities such as 

planning a unit or a lesson. or establish­

ing leaching objectives might pro\·e to be 

complicated tasks. and expressions such 

as ••!earning strategies"' or ·•communica­

ti,·e competence'~ might be as familiar to 

them as the weather on the moon. 

No doubt native teachers attract stu­

dents, but eventually they may let their 

students down. My opinion is that go01l 

language schools are made of good lan­

guage programs, good materials. and good 

teachers. Thus, the odds are in favor of 

the expt'rienced non-native I em· her o\·er a 

native non-teacher. 
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Mu Ftngying is a l.x­
lurtr ht tht Foreign 
umguag« D'-'P"rtmmt 
at Xu:hou Tmch"'s' 
College in fiangsu, 
whtrt sht tmch<S first­
ymr students majoring 
in English. 

book just hy saying, "I wonder if your book 
is in vour hand?" It saves them the trouble 
of se;rching through the catalogue in the 
school libr.uy only to find that the book 
they want has been borrowed, or that it 
does not suit them. 

3. Assisting classroom teaching. Since 
the library is in the care of the teacher, the 
teacher knows what his students are read­
ing. lie can guide, advise, and help when­
ever Ol'"Cl"S!'>.,rv. He Ciln dra\•..t material from 
the books to b., used in the classroom. 

Conclusion 

If the students Me enthusiastic, they can 
expand the libr.1ry into a grade library, even 
a department library. by swappingt books 
with students in other classes. They can 
keep the books after the first year, and add 
to the collection when they go on to the sec­
ond, third, .1nd even fourth year. 

Recently my students proposed to form 
a tape colll'Ction in a similar way. I believe 
this can' prove equa_IIy successful. 

I am presenting my idea and practice in 
Forum in the hope that other forum readers 
will find it u~ful and might like to try it out. 
In th.1t ca,:e, I will feel genuinely rewarded. • 

The TOEFL Is Not Perfect 
Chen Yuan-zhen 
Zhrjiarrg Asriculturallilritwsity. Harrg:lrou 

The Tt'St of English as a Foreign Language 
(TOEFL) was developed in 1963 in the Unit­
ed Statt'S through the cooperative efforts of 
over JO org.1nizations, both public and pri­
vate, to help in the assessment of the lan­
guage cumpetcnce of nonnative speakers. 
Recently. TOEFL has been widely used in 
our country as a model test accepted not 
only by universities and colleges, but also 
by technic,,( institutes and even middle 
schools. Why is TOEFL so popular in China 
now? To be sure. it h.1s a lot of advantages 
for both students and teachers. 

Advantages 

The most important point is that TOEFL 
cover. a broad range of knowledge of 
English. It contains three sections and five 
subtests. The listening-comprehension sec-

Errglislr Tcachitrg Forum 

tion tests the student's ability to understand 
short, informal conversations and part of a 
university lecture. This material is present­
ed on recordings. The grammar section tests 
knowledge of important grammatical 
points that frequently cause problems for 
the students. Also tested are the vocabulary 
words that are required for efficient read­
ing. For some of the test items, the student 
selects the word or phrase that best com­
pletes a sentence. For the reading-compre­
hension subtest, howe,·er, the student reads 
short prose paragraphs and answers multi­
ple-choice questions. After examining the 
test, then, one finds that the student's listen­
ing and reading skills can be assessed 
directly, as can his knowledge of English 
grammar. 

Another strong point is that correcting 
the test paper is no longer a heavy burden 
on the teacher, as it may be done by com­
puter. Thus, teachers can save much time 
and energy for what they prefer to do. This 
is also a very important reason why TOEFL 
is so widely welcomed. 

Nevertheless, through several years' 
experience, we have found that TOEFL is 
not perfect at all. Like everything else in the 
world, it has two sides-a good and a bad. 
The TOEFL also causes some serious prob­
lems in our English teaching and learning. 

Disadvantages 

First, as is well known, in the TOEFL all 
that the students are required to do is to 
judge what is right and what is wrong. This 
task is as simple as making a mark or tick­
ing the answer. No productive work is 
required of the testee. Such a test form can 
only lead the students into very bad habits 
in learning English. As a result, they are 
extremely poor in spelling, a skill that is not 
needed at all for the test. Last summer, a 
CET-4 (College English Test-Band 4) was 
held in our province. An opportunity to 
check the composition papers happened to 
fall to me, and, to my surprise, I found the 
word people misspelled in almost half of the 
papers. How did this come about? Soon, a 
student told me the truth: "It has become 
much easier to study English than before, 
because we do not have to do much writing 
during the course. No matter how difficult 
the test paper is, I can do it without writing 
a single word. If I recognize the word, I tick 
it; if I don't know the word, I guess it." 

Second, in the TOEFL, speaking and 
composition-writing skills are essentially 
ignored. Viewed from this perspective, " is 
not surprising that many students, who 
have indeed demonstrated listening- and 
reading-comprehension skills plus knowl­
edge of enough grammar to obtain the 
minimum percentile score for their college, 
subsequently encounter serious academic 
problems. In fact, many students arrive in a 
foreign country with a minimal ability to 

speak English and are often burdened wit} 
accents so heavy that they are difficult tc 
understand. Furthermore, they find it hard 
to express themselves in writing. Ever 
graduate students have these problems. 

A partial explanation for this state 01 
affairs may be that crash courses are avail· 
able to help students pass the TOEFL. Ir 
such courses, the students are drilled inten· 
sively on the types of questions that the) 
are likely to encounter when taking the test 
Some rote-memory work on English usag1 
and vocabulary is also taught by "TOEFl 
instructors." Thus, prospective student· 
with only a minimal command of Englisl 
can take a course to bring their Englisl 
grammar, listening skills, and reading-com 
prehension levels up enough to meet th' 
desired TOEFL cut-off score. The students 
true ability to speak, \\-·rite, and even com 
prehend English. however, may be high!: 
questionable. 

Third, the TOEFL is not a measure o 
academic aptitude or subject-matter compe 
tence. The TOEFL was designed to assis 
institutions-in broad terms only-to deter 
mine whether applicants have attained sui 
ficient competency in English to begin t1 
study in that language. So another problen 
the students have is an inability to under 
stand the technical terms used in their par 
ticular field of study. Some people engage. 
in specific research work are able to rea' 
fluently and write acceptably about thei 
subject, but they might fail completely i 
asked to take the TOEFL. 

Some professional articles, and even th 
test manual itself, agree that the TOEFL ha 
limited diagnostic value. The TOEFL doe 
provide a score for listening, reading, an' 
grammar learning, but specific informatio 
such as that needed for the identification < 
problems with scientific terminology is nc 
provided. In a word, the TOEFL is not 
refined diagnostic tool. 

Remedial efforts 

We are pleased to see that more an 
more English teachers in China hav 
already perceived the negative effect < 

TOEFL on their students. They are tryin 
their best to improve the test form an 
make it more helpful for the teaching an 
learning of English in the Chinese situation.! 

Chen Yuan-zlren is a1 
associate professor of 
English at Zirejiarrg 
Agricultural Universi 
ty. Sire iras been leach· 
irrg EFL for 15 years, 
arrd has bern teaching 
tire TOEFL in gradual 
classes for the past fiv. 
years. 
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Is advertising turning children into criminals? 
IIA!\IBUHG (DPA)· Clu!,hm 
ld yow1g p<-"(Jpl~ an• bt..·tng 
cn>:L~ingly targctc>d bv the 
h·t•t1i5mg: indusuy, wllh nwre 
ad more teJevision SjftJt.s, 
•sters and new:.-pap.:.•r i .. uh't•r­
tcm~nts aiml>d at st.:hOt,Jgt )t_·J~. 
Tht! t•ffL>el such advt·n :.:-;mg 
LS on mmors is .subwct 11! .t 

spuh: currently going on 1n 

('rmany Llctwt"Cn socio)ogi.sL'i, 
li1d prutcction agendt~ und 
c advt•rti.sing induslly. 
The row wa~ fud,~t by a n .... -.:nt 
J.tcmenl fnm1 the Gt•llllilll 

1ildn.·n 's Hdicl Organization, 
1king the !,'lllWing number 
ohupli!linl{ offcnS<•s by Jll vc~ 

lt~s to the umount of ad\'t·111s1ng 
t•y tuk~ Ill. 
Tl1c Ut•rlin-Uased urg;ani.t.;,titm 
•inted uut that tulvt'l tJ:>t·i~ 
len confmnt chitdrm wilh 
.•n1bers of their pl't'f gnuJps 
~adng fashionable bmm.J n~t11:~· 
)thing ur showing off Uw bto·:-.l 
p':ltlr spor1ing goods. 
SuL'h imal~l'.S, the nrg:in11:1-
fll .suys, generate un Ul)~l' 111 

y, which often !eud~ to 
:1plifting wlwn there is not 

By Peter Zoettle I 
enough p<x·kct mcuwy avail"-lblc 
fur '' 1\:'guliir pun:hase ot tht• 
objet:ts in questitJJl. 

"Financial pn:~un~ is gn·t.ll­
t•:it 1JI1 childn•n uf laa){'-! fanulit•s 
aud thuse •·ai.SL't.i )Jy June par­
ents," says Mlduu~l Knlst•, 
pn·~s spokt~sman fur tlw 
Childrt'n'• Hdi<•f Olllani<ation. 

The Nahonal A.'iSodatwn of 
the 4\dvt~a1isinH Indu.slly dis­
mis:-;es SLH.:h a•·t,runwnts on the 
gauunds that there nrc no n·li­
ublc studit's to buck up claims 
that udvt•J1ising h•mpL'i dul­
dn.·n to stt~11l. 

"Jn thb L'UlU\tzy, adve11ising 
is moHle a SL'aJH1f.!Oat fol' a varl­
Pty nf sod.al ills," says Vollwr 
Nil:kL·l, thl! as..'itX:iution's man­
agmg dill."l'tt 1r. 

He S<J)'!'i tlw rise in pl'lty crime 
.:mumg- childn·n n~ulls from a 
lack uf awan·rwss of wnmgdo­
ing r~ther th:m being f<~l too 
much adv£'r1ismg-. 

"In sume cases, juv(~nile 
:lhtlpllftt·l'!i arl! projected as vic­
tims rather than (ll'llWlrators," 
he add!i. 
Tlwn~ an~ any numbt~r of 

stutlies showing the best way 
for udv<•J1ist'rs to getthl'ir mes­
sage acn;:-os to childn•n, but rel­
atively few dealing with the 
dfects of adve1tising on minors. 

The ~mount of television ad­
Vt...>l1i.sinl~ t1me din~cted itt 
youngsters h.:~s. aisen dramati­
cally ovt•r the years, according 
to a study pn·sidt>d over by 
Sh•fan AufL•nanger, professor of 
1\kdia I·:duc:&tlon ~t the 
Univt•J-sity of Ila1nhurg. 

In a singh! Wl'l'k, Auicnangcr 
and his team cuttnll•d ne~uly 
1 ~.oou adve1·t i:;ing spots 1111 

tl'lt-\'ISion t:h;JJHH'Is in Cerm..1ny, 

~0 P'-'1' L'Pflt of which wen .. • wh1ch an.• n11t omnipn.>st·nt tHl 
t•ittwr dlrt"-'lt·d ut children or tt•levlsion scn•,•ns und .uln•r­
uscd duldren tu get their nws- ti!:ilng po.slL•rs. 
sage Ul'ross. :\uftmangt•r :-;ays that 15 bit-

The pn>ft•ssor says young lion mark~ (US$!1.3 billion) is 
people a11..• oflen under spent ei..u:h yt.•ar in Ct.•nn~my on 
enonnous pn_.,;sure to kt~·p up children and by children. ,\pm1 
with ttwar ftwmb. "Chaldn•n from their Jl<ll"kct muncy, chil­
often thtnk, ")'011 havt~ to have dn.~n alsu 1\."L't•ivc fl&l'sents from 
th1.s pnJduct in unler to ht.> thei1· parents nnd rclatlVL>s, 
accl'ph.'"ll'," he says. which ulso CO!)t money. 

But its is not a! ways adver- '11tc advc11isin.: induslly is 
tising that fuel!i the urge to abo intcn.>sl(.'<l in how •.:hildn)n 
buy. Qftpn it is wot'l of mouth, influence the buyinll habtts of 
par1icularly among tet•nagers, lhdr punmt!i. •111is ls patticu­
h" suys. For some• people, the !arly the cnse with lift•style 
really "hip" things ure those. · producL~ •·uch us caa>~, which 

;IJ\' ;.~t·nt•raJly L'ho.st.·n hum a 
:miJjt~ll\'e \.'Wwpoint, illld 

\\:ht~re marl<:eting dt•patimcnts 
do not wunt to ignore the view 
of nun-payinl;! family members 
when pl;mning salt'S slr.:tllt{iL'!i. 

~lost exp<'11S ~h'l'ee thut it is 
difficult to ptnpoint to wh~l 
t•Xli'Ot tht• youflgt!.Sl ('011.SUI1WI"!'i 

an· influenced by the advt~J1ls­
ing industry. 

"The influent:" of advertising 
is wildly exaJ.U~t!rall'<f." suys 
Nickel. "Clulcln'n today ore not 
that inu':latun~."'fu back up hi!i 
llwury, he cih.>£ the tn•nd nmon1~ 
smnt! older lct•nuger:i uwuy 

fn.un band-name dvthmg to 
more neutr.tl fa:-t.hicm WL'Hf. 

J1n)ft.-ssclr Aufl'llangt•r s:ays 
that tlw older duldn .. n get the 
mun: euutious tht·y bt.."l."Offit.• o( 
what advt•l1ist>rs are ll)'ing to 
tdl tht•rn. "l·:vt•n • hildn•n at" 
at.:utely a wan~ thut tilt.' n·nl pur­
pose o( advcl1i:-;ing i~ to make 
Lht~m buy things," he say:t. 

But this l<nov .. ·ll'dge i:~: ofh'n 
latl! in coming and dtH.~ not pnl­
tectthem fmm the t"mptntiurL1 
of a l'OnsumPr-miL'nlt..'<l £cx:Jcty, 
u.s rnany udult.ta tcxluy will con­
film whPn hx>king back on 
their childhmd. 



QUESTIONS IN THE READING PASSAGES 

The First Reading Passage 

The Title : The TOEFL is not prefect 

Comprehension Questions 

1. Knowledge Level 

According to the author, What is the use of the Test Of English as a Foreign 

Language ( TOEFL ) so far ? 

( The use of TOEFL so far is to help the assessment of the language 

competence of non-native speakers). 

2. Knowledge Level 

In what places has TOEFL been widely used in China ? 

(In China, TOEFL has been widely used in Universities, Colleges, Technical 

Institutes, and also middle schools ). 

3. Comprehension Level 

What makes TOEFL become popular in China ? 

( TOEFL becomes popular in China since it covers a broad range of 

knowledge of English that contains three sections and five sub-test skills. 

Besides correcting the test paper is no longer a heavy burden on the teacher 

as it may be done by computer so that teacher can save more time and 

energy). 

4. Comprehension Level 

What does the word " his " on the last line of the second paragraph refer to ? 

( It refers to the student ) 



5. Application Level 

What will the courses do if they have to prepare their students to pass the 

TOEFL? 

( If the courses want to prepare the students to pass the TOEFL, they will 

drill the students intensively on the types of questions that they are likely to 

encounter when taking the test. Besides they will also give some route 

memory work on English usage and vocabulary ). ' 

6. Application level 

What will happen to the students if speaking and writing composition 

skills are essentially ignored in the TOEFL ? 

( If speaking and writing composition skills are ignored, the students may 

have minimal ability to speak English and are often burdened with accents 

so heavy that they are difficult to understand. Furthermore they find it 

hard to express themselves in writing). 

7. Analysis Level 

Analyze the weaknesses of the TOEFL as a model test! 

( The TOEFL requires no productive work of the testee. There is no spelling 

exercise. The TOEFL ignores speaking and composition wTiting skills. The 

TOEFL was designed to assist institutions in broad terms only to determine 

whether applicants have attained sufficient competency in English. 

The TOEFL has limited diagnostic value, it does not pro..,ide specific 

information or the identification of problems with scientific terminology). 



8. Analysis Level 

Identify the specific words stated by the author which show that 

TOEFL is not perfect ! 

Paragraph 4 line 2 :"We have found that TOEFL is not perfect at all " 

Paragraph 5 line 6 : " Such a test form can onlv lead the students into very 

bad habits " 

Paragraph 5 line 9 : " As a result they are extremelv poor in spelling " 

Paragraph 6 line 2 : " Speaking and composition writing skills are 

essentially ignored " 

Paragraph ?line 16:" .... however may be highly questionable" 

Paragraph 8 line 3 : " The TOEFL was designed to assist institution in broad 

terms on! y " 

Paragraph 9 line 8 : " In a word, the TOEFL is not a refined diagnostic tool" 

9. Synthesis Level 

Supposing you had students who wanted to study m an English 

speaking country, would you give TOEFL to them? 

( personal opinion ) 

10. Synthesis level 

How would you help your students in having speaking and writing ability 

if you couldn't find the exercises in the TOEFL ? 

( personal opinion ) 

11. Synthesis level 



If you were a member of TOEFL constructors, how would you construct your 

TOEFL in order to be as perfect as possible ? 

12. Evaluation Level 

What do you think about the author's opinion that TOEFL is not Perfect? 

( personal opinion ) 

13. Evaluation Level 

Do you think that the author has enough proof in saying that TOEFL is not 

perfect? 

( personal opinion ) 

14. Evaluation Level 

Have you ever taken a TOEFL ? If yes, how big is the TOEFL influence to 

your English ? If not, based on your knowledge, how good is TOEFL for 

one's English ability? 

( personal opinion ) 



The Second Reading Passage 

The Title : Is Advertising Turning Children into Criminals ? 

Comprehension Questions 

1. Knowledge Level 

What is the topic sentence of this passage ? 

( The topic sentence of this passage is that children and young people are 

being increasingly targeted by the advertising industry ) 

2. Knowledge Level 

Who are involved in the dispute about the effect of advertising ? 

( Sociologist, child protection agencies and the advertising industry ) 

3. Comprehension Level 

What is the main idea of the 5th paragraph? 

( The main idea of this paragraph is that the advertisement images can 

generate an urge to buy which often leads to shoplifting when there is not 

enough pocket money available for a regular purchase of the objects in 

questions) 

4. Comprehension Level 

How does the advertising industry respond to the child protection 

agencies' claim? 

( The National Association of the advertising industry tries to dismiss 

such claims I arguments on the grounds that there are no reliable studies to 

back up claims that advertising temps children to steal. The association's 



managing director, Volker Nickel, argue that in that country, advertising is 

made a scapegoat (victim) for a variety of social ills). 

5. Application Level 

According to the child protection Agencies, What will happen to teenagers 

or children if they take a large- amount of advertising spot or programs ? 

( If teenagers or children take a large amount of advertising programs, the 

number of shoplifting offenses by juveniles will be growing) 

6. Application Level 

How will the teenager behave if they are aware of the real purpose of 

advertising ? 

( If teenagers are aware of the real purpose of advertising, they will not be 

easily influenced by the advertisers and they will be away from brand name 

clothing to a more neutral fashion wear ) 

7. Analysis Level 

Give proofs that the existence of advertising creates negatives points of view 

from the society ! 

(The negative point of views come from: 

-The German Children's Relief Organization who link the growing number 

of shoplifting offenses by juveniles to the a..-nount of advertising they take in. 

- The Berlin Based organization which pointed out advertisers as the ones that 

often confront children with members of their peer groups wearing 

fashionable brand name clothing or showing off the latest products. Besides 



the advertising image can generate an urge to buy which often leads to 

shoplifting when there is not enough pocket money available. 

- The spokesman for the Children Relief Organization, Michael kruse, that 

advertisement can cause financial pressure on children of large families and 

those raised by lone parents. 

8. Analysis Level 

Restate the advertising Industry's arguments toward the negative points of 

views of the advertisement ! 

( The national Association of the Advertising Industry dismisses such 

claim or argument that there are no reliable studies to back up that 

claim. 

Volker Nickel, The Association's managing director says that in this country 

advertising is made a scapegoat for a variety of social ills. He says that the 

rise in pretty crime among children results from a lack of awareness 

of'.VTongdoing rather than being fed too much advertising. He also adds that 

the influence of advertising is wildly exaggerated since children today are not 

that immature. He then tries to back up his argument by showing the 

trend among some older teenagers away from brand name clothing to more 

neutral fashion wear). 

9. Synthesis Level 

Supposing you were a member of The Child Protection Agencies, what 

would you do to make the children are not easily influenced by the 

advertisement ? 



( personal opinion ) 

10. Synthesis Level 

How would you present your argument toward the society's claims if you 

were the spokesman of one of the advertising agencies ? 

( personal opinion ) 

11. Synthesis Level 

If you were a sociologist, what is the first thing that you would do to 

settle down this dispute ? 

( personal opinion ) 

12. Evaluation Level 

Do you agree with the opinion that advertisement can tum children into 

criminals? 

( personal opinion ) 

13. Evaluation Level 

Do you have the same idea with Volker Nickel that The Child Protection 

Organization exaggerate the negative influence of advertising ? 

( personal opinion ) 

14. Evaluation Level 

How about the author's point of view? Where i<> his/her position in this 

dispute? Give proofs' 

( personal opinion ) 



( If the students have difficulties in understanding new structure, the 

experienced non-native teacher can make comparison between the grammar 

of English and the grammar of the mother tongue). 

6. AppUcation level 

What step will a non-native English teacher take if he I she finds 

problem in translating the meaning of the words to his/her students ? 

( If a non-native English teacher finds difficulties in explaining the meaning 

of words, he I she may use the student's mother tongue so that the new word 

will be easily understood ). 

7. Analysis level 

According to the author, what are the advantages of having non-native 

teacher for teaching the target language ? 

( The advantages are : First, the non-native teacher never has the fear of not 

knowing a mispronounced word since he/she can bridge the gap between the 

student's pronounciation and the correct target word. Second, He/she can 

make comparison between the grammar of English and the grammar of 

the mother tongue in order to help students overcome difficulties in 

understanding or producing new structures. Third, the non-native teacher 

with a rich L2 culture knowledge would also be able to encourage student's 

interest in the culture of L2.And the fifth, this teacher may also comfortably 

rely on word by word translation or use the student's mother tongue in 

translating difficult word ). 



The Third Reading Passage 

The Title : Native and Non-native Teacher :A Matter to Think Over 

Comprehension questions 

1. Knowledge level 

What is being concerned by the writer when she started teaching English as a 

foreign language in her country ? 

( The writer is being concerned with the role of the non-native teacher of 

English as a foreign language ). 

2. Knowledge level 

Who are the non-native teachers in this article ? 

( In this article the non-native teachers are teachers from Brazil I Brazilian). 

3. Comprehension level 

What does the word "this" m the first paragraph line 6 refer to ? 

(The word "this" refers to the role of the non-professional native teachers in 

schools). 

4. Comprehension level 

What is the main idea of the 5th paragraph ? 

( The main idea of the 5th paragraph is that language institutes or private 

language schools prefer to hire native teacher of the target language than a 

more experienced non-native teacher ). 

5. Application level 

What will the experienced non-native teacher do if his I her students have 

problem in understanding new structures ? 



8. Analysis level 

What kind of teacher does the writer prefer to, a native or a non native 

teacher ? Give evidence that support your answer ! 

( The writer prefers a non-native teacher to a native teacher. The evidence 

are : Paragraph 6 line 9 : " ... the non-native teacher never has the fear of. .. " 

Paragraph 7 line 11 : "... a non-native teacher will certainly have 

drawbacks ... " 

Paragraph 9 line 6 : " ... the native teacher might struggle to explain such 

concept ... " 

Paragraph 10 line 2 : " ... native teachers many times are not real teachers 

but merely native speakers ofthe target language" 

Paragraph 10 line 10: " ..... teaching methodology might be something 

completely alien to native teachers". 

Paragraph 10 line 18 : " .... might be as familiar to them as the weather on the 

moon" 

Paragraph 11 line 2 : " ... eventually native teachers may let their students 

down" 

9. Synthesis level 

If you were a non-native teacher of English as a foreign language in 

Indonesia, what would you do in order to compete with the native teacher? 

( personal opinion ). 



10. Synthesis level 

Supposing you were a student of an English Private Institute, what kinds of 

teacher would you like to have, a native teacher or a non-native one ? Give 

your reasons ! 

( personal opinion) 

11. Synthesis level 

Supposing you were the head of a Private Language Institute, would you 

choose native or non-native teachers ? Why ? 

( personal opinion ) 

12. Evaluation level 

Do you agree with the author's opinion that non-native teachers of English 

as the target language are better ? Give your arguments ! 

( personal opinion) 

13. Evaluation level 

What is your opinion toward the author's statement that native teachers 

many times are not "real" teachers but merely native speakers of the target 

language? 

( personal opinion ) 

14. Evaluation level 

Do you think that the non-native English teachers m our Private English 

Institute are also better? Give your reasons ! 

( personal opinion) 


